3aKOHBI AJIr¢OpHI
JIOTUKH



3aKkoH OAuzbvloHKUMA KoHbvioHKUMA
1 2 3
KOMMYTATHBHOCTH AvB=Bv A A& B=B&A
ACCOLIMAaTHUBHOCTH (Av B)v C= A&B&C=B&A&C
=Bv(Av ()
JTUCTPUOYTHBHOCTHU A& (Bv O)= Av B& C=
=A&BvA&C =(AvB)&Av O
3aKOHBI —(Av B)= —(A & B) = —Av—B
ne MopraHa =-A& B
UIEeMITIOTEHTHOCTH AvA=A A&A=A
[TOIJIOLIEHU S AvA& B=A A& (Av B)=A

Av-A& B=Av B

A& (FAvB)=A&B




3akoH

CKIIEHBaAHHS

AuzvioHkuun

A& Bv—-A& B=1B

KoHBloHKUKMA

(AvB)&(—Av B)=B

3aKOH
UCKIIUEHHOTO

TPETHETO

Av—A=1

3aKOH
HEIMPOTHBOPCYHA

3dKOHHI
HCKJTIOYUYCHUS
KOHCTAHT

JNBOWHOTIO
OTPULIAHHUS




A& Bv A& B



XvY-(X-Y)



X-Y+X + Y+X



